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Works from any angle.
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SSA L.of S. to get other angle(s), then %ab sin y
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ASA L.of S. to get another side, then Eab sin ¥
1 ]
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Right triangle lbh
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Draw three interlocking circles where every circle's center is on one of the other circles:
Circle A has a radius of 10 in. Its center is on circle C.
Circle B has a radius of 9 in. Its center is on circle A.

Circle C has a radius of 8 in. Its center is on circle B.

Find the area and angles of triangle A, B, C



1 |72

The Law of Sines

p.547-8(1,5,15,17,23,27,29,31,35,37)

2 |73

The Law of Cosines

p.555-6(1,7,15,23,25,26,27 29)

Plus 7.3 packef

31. Finding the Length of a Guy Wire The height of a radi
tower is 500 feet, and the ground on one side of the tower
slopes upward at an angle of 10° (see the figure).

(a) How long should a guy wire be if it is to connect to
the top of the tower and be secured at a point on the
sloped side 100 feet from the base of the tower?

(b) How long should a second guy wire be if it is to
connect to the middle of the tower and be secured at
a point 100 feet from the base on the flat side?
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